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QUESTION 1

Given the code fragments:

public static Opticnal<String> getCountry(String loe) {
Optional<String> couName = Optional.empty():;
if ("Paris".equals(loc))
couName = Optional.of ("France");
else if ("Mumbai".equals(loc))
couName = Optional.of ("India");
return coulName;

and

Optional<String> cityl = getCountry("Paris");
Optional<String> city2 = getCountry("Las Vegas"):
System.out.println(cityl.orElse ("Not Found™)):
if (cityZ.isPresent())

city2.ifPresent(x -> System.out.println(x)):
else

System.cut.println(city2.orElse ("Not Found")):;

What is the result?

A. France Optional[NotFound]

B. Optional [France] Optional [NotFound]
C. Optional[France] Not Found

D. France Not Found

Correct Answer: D

QUESTION 2

Given the code fragment:

List codes = Arrays.asList (10, 20);
UnaryOperator uo = s -> s +10.0;
codes.replaceAll(uo);

codes.forEach(c -> System.out.println(c));

What is the result?
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A. 20.0

30.0

B. 10

C. A compilation error occurs.

D. A NumberFormatException is thrown at run time.

Correct Answer: C

QUESTION 3

Given the code fragment:

final List<String> list = new CopyOnWritelArrayList<>();

final AtomicInteger ai = new AtcmicInteger (0);

final CyclicBarrier barrier = new CyclicBarrier (2, new Runnable ()
pubklic void run() { System.cut.println{list);

B0
Runnable r = new Runmabla()
public woid run() {
try {

Thread.sleep (1000 * zi.incrementindGet());

list.add{™X");
barrier.await () :
} catch (Exception ex) |
}
}
| &
new Thread(r) .start();
new Thread(r) .start():
new Thread(r) .start():
new Thread(r) .start():

What is the result ?

AL IX][X, XX, X, XT X, X, X, X]
B. [X, X]

C. IX] [X, X] [X, X, X]

D. [X, X] [X, X, X, X]

Correct Answer: A

QUESTION 4

Given the code fragment:
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Path pathl = Paths.get("/app/./sys/");
Path resl = pathl.resolve("log");

Path path2 = Paths.get("/server/exe/");
Path resl = path2.resolve("/readme/");
System.out.printin(resl);
System.out.printin(res2);

What is the result?

A. lapp/sys/log /readme/server/exe

B. /app/log/sys /server/exe/readme

C. /appl/./sys/log /readme

D. /appl/./sysl/log /server/exe/readme

Correct Answer: D

QUESTION 5

Given the code fragment:

public class Foo {

public static void main (String [ ] args) {
Map unsortMap = new HashMap ();
unsortMap.put (10, "z");

unsortMap.put (5, "b");

unsortMap.put (1, "d");

unsortMap.put (7, "e");

unsortMap.put (50, "|");

Map treeMap = new TreeMap (new
Comparator () {

@Override public int compare (Integer o0l, Integer 02) {return o2.compareTo
(01);}});

treeMap.putAll (unsortMap);

for (Map.Entry entry : treeMap.entrySet () ) {
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System.out.print (entry.getValue () + " ");
}
}
}

What is the result?

A. A compilation error occurs.
B.dbezj

C.jzebd

D.zbdej

Correct Answer: C
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